SO mu cua 10

3,8 % 10* =

7,78 + 10* =

Ngay thang:
3,44 x 10° =
8 x 10% =
5,35+-10° =
3x10% =
3,7+ 10° =

10

10° =
—3x10=
9x10° =

1,09 x 10> =
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Piém:
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0 @ @ j S6 mil ctia 10

Tén:__ Ngaythang: _ Piém:____
9,69 x 10° = 9690 3,44 x 10* = 344
2,65+ 10* = 0.000265 8 x 10* = 80000
6 x 10° = 6000 5,35+ 10" =5.35
10° = 100000 3 x 10* = 30000
5x 10* = 50000 3,7+10° =3.7
9,81 x 10° = 9810 10* = 10000
6, 11 x 10* =611 10° = 1000
10> = 100 ~3x10=-30
3,8 x 10" = 38000 9 x 10° = 900000
7,78 = 10* = 0.000778 1,09 x 10* =109
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